Tekst 6 Sexonomics

1p 17 What is the main point made in paragraph 1?

Evidence suggests that

A male economists tend to be more inclusive than their female
counterparts.

B the correlation between gender and socio-economic behaviour
warrants further research.

C the gender gap among economists undermines the quality of their
research.

D there are gender-related preferences in the field of economics.

E there is a wide gender gap in education among European economists.

1p 18 How does the study mentioned in paragraph 2 relate to the study
mentioned in paragraph 1?
A It confirms it.
B It misrepresents it.
C ltreviews it.

1p 19  Which of the following fits the gap in paragraph 3?

A after all

B however
C in addition
D therefore

1p 20 Geef van de volgende beweringen aan of ze overeenkomen met de
inhoud van alinea 3.
Noteer “wel” of “niet” achter elk nummer op het antwoordblad.
1 Economists’ written work reflects their political bias.
2 Economists’ reporting styles are gender-dependent.

“senior gatekeepers” (alinea 6)
1p 21 In welke alinea wordt deze groep voor het eerst beschreven?
Noteer het nummer van deze alinea.

1p 22 Which of the following quotations reflects what is meant by “gender
imbalance” in paragraph 67?
A ‘“preponderance of men in the economics profession” (paragraph 4)
B “pay gaps are largely explained by differences in skills and choice”
(paragraph 5)
c “women hold different views to men” (paragraph 6)
D “they suffer from ‘motivated reasoning’ (paragraph 7)
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1p 23  What is the function of paragraph 7?
A to explain that women tend to be on the defensive
B to offer alternative reasons for favouring women over men
Cc to put the idea that women are victims of bias into perspective
D to undermine the argument that men are naturally prejudiced

1p 24 Which of the following sayings applies to George Stigler? (paragraph 8)
A be caught between a rock and a hard place
B get a taste of your own medicine
C there is no smoke without fire
D you should practise what you preach

Tekst 7 The word and the world

1p 25 How does Gavin Jacobson start his review in paragraphs 1 and 2?

A by explaining why Stefan Zweig conformed to Jewish rules and
traditions

B by mentioning how, according to Stefan Zweig, travelling and Judaism
are linked

C Dby stressing that Stefan Zweig’s conversion to Judaism was a sign of
protest

D by using Stefan Zweig to illustrate the political repression of Jews at
that time

1p 26 What is the function of paragraph 3?
A to describe the approach Martin Goodman took in recounting the
history of Judaism
B to explain how Judaism became increasingly popular in Roman times
to make clear why Martin Goodman focuses on the rise of Judaism
D to stress the major importance of Flavius as a source of the antique
period of Jewish history

(@)

1p 27 Which of the following fits the gap in paragraph 3?
A consistency
B diversity
C rigidity
D simplicity
“Judaism has proved both malleable and resilient” (alinea 4)

1p 28 In welke alinea herhaalt Gavin Jacobson deze bewering voor het eerst?
Noteer het nummer van deze alinea.
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